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PART _ A

(Answer all the 4 questions' Each carries 1 mark')

Every element of a determinant has a

diagonals.

PART _ B

(Answer any 7 questions. Each carries 2 marks')

ofamatrixisthesumofthee|ementsottheleading

is reverse process of differentiation'

-d finax and Y, if [4 5] + [x Y] = [7 3]- 
'

6. lf the margina| revenue function for output ,q' is given by

Find the demand function'

7. Explain co-factor of a determiqant with an example'

,E What are the rules of integration ?

MR= 6,--5'
(q + 2)'

lLo - eteP '

P.T.O.
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.,4. Are the following two determinants equat ?

245
123
014

425
213
104

and

';lO. Detine Eigen value.

$ lntegrate log x.

Jz.
[s 2 1]

Findtherankof l0 1 3l

L21oJ

Explain consumer surplus.

[r 2 3-l lr" ] :ldrinatheproductorA=L_r., 
f ?J 

""0r=L. 1 1l

-1,6. Explain constraint optimization.

!. lntegrate (x + 1)s.

18. Evaluate

a2 " tl
b2 b rl.
c2 c tl

19. Explain the methods of integration.

1+/Explain the properties of definite integrals.\-/

PART -. C

(Answer any 4 questions. Each carries 3 marks.)

ilililil1 ilt Iililffi fltil tfiilu |flil ffi iltl

(lx7=141

(3x4=12)7. =r?lain 
five properties of a determinant.
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PART - D
(Answer any 2 questions. Each carries 5 mar:ks.)

21' The demandfunction is D = 25g-50p andsuppfyfunction is s= 25p+25,cafcurate equiribrium price. Find cons;r;;b and producer,s surprus.

,/z l3rvlme 
simurtaneous equation using crammer,s rufe :' zx-Uy+ 5z=11, bx +2y_Tz=_,12,_4x+3y*Z=g.
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(5x2=10)

ll 1 1l23. Find the adjoint of the matrix 
I r i _'d 

"no 
verify the theorem

lz _1 3 I

A(AdjA) = (AdjA)A= lA lt. ',.
adi@--\l t o-\

24. lnteg t. --,-: '

.__v.-.- 
(x _ 1) (2x + 1).


